

$$a_1 = \varepsilon \quad \rightarrow \quad v_d = v_1 \quad \boxed{d = v}$$

$$a_5 = 41$$

$$a_n = v_n + w \rightarrow v_n + w = 2.1 \rightarrow v_n = 1.8 \rightarrow \boxed{v_n = 2a} \rightarrow \boxed{a = 1.8}$$

$$\frac{x}{n} = \frac{v}{n} \quad \left. \begin{array}{l} \sqrt{n} \pm 3 \rightarrow n=12 \rightarrow (v \times 12) + 3 = 1.1 \checkmark \\ \quad \quad \quad \rightarrow n=18 \rightarrow (v \times 18) + 3 = 1.8 \checkmark \\ \quad \quad \quad \vdots \\ \quad \quad \quad \rightarrow n=124 \rightarrow 99v \checkmark \\ \quad \quad \quad \rightarrow n=125 \rightarrow 100v \checkmark \end{array} \right\} \quad \begin{array}{l} n=12 \quad n=124 \\ \hline (124-12) + 1 = 113 \end{array}$$

[illegible]

[illegible]

$$\begin{aligned} & a_{1r} - a_{1.} = 8 \\ & a_{1r} + a_{1.} = 18 \\ \hline & -2a_{1.} = 8 - 18 \rightarrow a_{1.} = 1. \end{aligned}$$

$$a_{1r} - a_{1.} = 8 \rightarrow a_{1r} - 1 = 8 \rightarrow a_{1r} = 18$$

$$\begin{aligned} & a_{1.} = 1. \\ & a_{1r} = 18 \end{aligned} \quad \left. \begin{aligned} & r d = 8 \\ & d = 18 \end{aligned} \right\} \frac{1}{r} \frac{8}{18}$$

$$a_{1r} \rightarrow a_{1r} + r d \rightarrow 18 + 9 \times \frac{8}{18} \rightarrow 27, 8 \leftarrow \text{مطلوب}$$

$a_1 + ar + ar + ar + \dots + a_n \rightarrow \frac{a}{r} (r a_1 + \Sigma d)$ $\frac{a}{r} (r a_1 + \Sigma d) = \frac{1}{r} \times \frac{a}{r} (r a_1 + \Sigma d)$ $r a_1 + r d = \frac{r}{r} a_1 + \frac{r \Sigma d}{r} \rightarrow \frac{r a_1}{r} + \frac{r \Sigma d}{r} = \frac{r}{r} a_1 + \frac{r \Sigma d}{r}$ $\frac{a r}{a_1} = \frac{a r d}{a_1} \rightarrow \frac{1}{r} d + \frac{1}{r} d \rightarrow \frac{4}{r} = \frac{r}{r} \rightarrow r = 4$ $\Sigma a_1 = r d \rightarrow a_1 = \frac{r}{r} d$ $a_1 = \frac{1}{r} d$	6
$t_n = t_{n-1} + 18 \rightarrow t_n - t_{n-1} = 18 \rightarrow n = r \rightarrow t_r - t_0 \rightarrow r d = 18 \rightarrow d = 8$ $t_0 \rightarrow n = 0 \rightarrow t_0 + 18$ $t_0 \rightarrow n = 8 \rightarrow t_8 + 18$ $t_8 - t_0 = ? \rightarrow (t_8 - t_0)(t_8 + t_0) \rightarrow (t_8 - t_0)(t_8 + t_0)$ $r \times (r + 4) = ? \rightarrow t_v$ $\frac{r \times (r + 4)}{r \times (r + 4)} = \frac{r \times (r + 4)}{r \times (r + 4)}$	7
$a_1 = r(1 - 4\sqrt{r}) / \frac{r + \sqrt{r}}{4\sqrt{r}} \rightarrow d = \frac{r + \sqrt{r} - r(1 - 4\sqrt{r})}{4\sqrt{r}} \rightarrow \frac{r + \sqrt{r} - r + 4r\sqrt{r}}{4\sqrt{r}} \rightarrow \frac{r + 4r\sqrt{r}}{4\sqrt{r}}$ $d = \sqrt{r}$	1
$r \times r \rightarrow d = \frac{r r - r}{r n - r + 1} \rightarrow \frac{r}{r n - r + 1} = d \rightarrow d = \frac{18}{r n - 1}$ $r(n-1) = 11 \rightarrow a_{n+1} = 11 \rightarrow a_1 + n d = r + n d = 11 \rightarrow n d = 9 \rightarrow n \left(\frac{18}{r n - 1} \right) = 9$ $n = 3$	9
$a_n + a_{n+2} = a(r + a_1)$ $n + n + 2 = r_0 \rightarrow r_n = 14 \rightarrow n = 1$ $\frac{a_n}{a_1} = r \rightarrow \frac{a_n}{a_1} = r \rightarrow \frac{a_1 + n d}{a_1} = r \rightarrow a_1 + n d = r a_1 + n d$ $-r d = \frac{r a_1}{r} \rightarrow a_1 = -d \rightarrow d = -a_1$ $a_1 + (n-1)d = 0 \rightarrow a_1 + (n-1)(-a_1) = 0 \rightarrow a_1 - n a_1 + a_1 = 0 \rightarrow r a_1 - n a_1 = 0$ $a_1(r - n) = 0$ $n = r \rightarrow a_1 = 0 \rightarrow d = 0$	10